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QUESTION 1

Click the Exhibit button. 
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You configured R1 and R2 to form an OSPF adjacency, but the adjacency will not establish. Referring to the exhibit,
which statement correctly identifies the problem? 

A. Hello and dead timers are not matching between R1 and R2 

B. R1 does not have a router ID defined 

C. R1 and R2 have the same router ID 

D. R2 has a wrong area configured 

Correct Answer: C 

Reference: https://www.juniper.net/documentation/en_US/junos/topics/reference/configuration-statement/ router-id-edit-
routing-options.html 

 

QUESTION 2

In a stateless IPv6 auto-configuration scenario, what is the host\\'s IPv6 address if the interface\\'s MAC address is
12:34:ab:cd:ef:56? 

A. fe80::1234:abff:fecd:ef56/64 

B. fe8::1234:abff:fecd:ef56/64 

C. fec0::1234:abff:fecd:ef56/64 

D. fe80::1234:abcd:ef56/64 

Correct Answer: D 

 

QUESTION 3

Click the Exhibit button. 
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In the network shown in the exhibit, all switches are configured with the default STP root bridge priority, and Switch A
has been selected as root. You recently added the older Switch D into the network as an access switch, and notice it
has taken over as root. 

Which configuration would solve this problem? 
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A. Option A 

B. Option B 

C. Option C 

D. Option D 

Correct Answer: C 

Reference: https://www.juniper.net/documentation/en_US/junos/topics/reference/configuration-statement/ no-root-port-
edit-protocols-stp.html 

 

QUESTION 4

Click the Exhibit button. 
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Referring to the exhibit, which statement is correct? 

A. Routes from 10.1.1.1 are more preferred than routes from 10.2.2.2 

B. Routes from 10.2.2.2 are less preferred than the default local preference 

C. Routes from 10.3.3.3 are more preferred than the default local preference 

D. Routes from 10.2.2.2 are less preferred than routes from 10.3.3.3 

Correct Answer: C 

 

QUESTION 5

Click the Exhibit button. 

Referring to the exhibit, which two statements are correct? (Choose two.) 

A. The router will install the 0.0.0.0/0 route into the routing table when no BGP prefixes are present 

B. The router will remove the 0.0.0.0/0 route from the routing table when no BGP prefixes are present 

C. The router will remove the 0.0.0.0/0 route from the routing table when any BGP prefixes are present 

D. The router will install the 0.0.0.0/0 route into the routing table when any BGP prefixes are present 

Correct Answer: BD 
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